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7XJDV�$NKLU�LQL�SHQXOLV SHUVHPEDKNDQ�XQWXN���

�� 7XKDQ�<HVXV�.ULVWXV DWDV�VHJDOD�EHUNDW�GDQ�DQXJHUDK�1\D�\DQJ�WHUXV�PHOLPSDK�

NHSDGD�SHQXOLV�VHODPD�SHQ\XVXQDQ�7XJDV�$NKLU�KLQJJD�VDDW�LQL��

�� 0DPD�GDQ�3DSD�WHUFLQWD��\DQJ�VHODOX�PHQGRDNDQ��PHQGXNXQJ��PHPEHUL�VHPDQJDW�

GDQ�SHUKDWLDQ�WLDGD�KHQWL�NHSDGD�SHQXOLV��

�� .DNDNNX�0HUU\�6RIKLD�GDQ�$VWULG�*UDFH�0RQLFD��\DQJ�VHODOX�PHPEHUL�GXNXQJDQ�

GDQ�VHPDQJDW�VHODPD�SHQ\XVXQDQ�7XJDV�$NKLU GDQ�VHODOX�PHQGDPSLQJL�SHQXOLV�

GDODP�PHQJHUMDNDQ�7XJDV�$NKLU�LQL��

�� 7HPDQ�WHPDQ�75$.20�&$17,.�\DQJ�VHODOX�PHQJKLEXU�SHQXOLV�GDQ \DQJ�WHODK�

EHUEDJL� VXND� GDQ� GXND� VHUWD� VHODOX� PHPEHUL� VHPDQJDW� GDQ� PRWLYDVL� GDODP�

PHQ\HOHVDLNDQ�7XJDV�$NKLU��

�� $JQHV�*UDFHFLD�GDQ�1DWDV\D�6KDKQD]��\DQJ�VHODOX EHUEDJL�VXND�GDQ�GXND�VHUWD�

VHODOX PHPEHUL�VHPDQJDW�NHSDGD�SHQXOLV�XQWXN�WHUXV�PDMX�GDODP�PHQ\HOHVDLNDQ�

7XJDV�$NKLU LQL�

�� 9LND�$XGLQD��)HOL[�*LQWLQJ�GDQ�'DQLHO�$GL��\DLWX�VDKDEDW�VDKDEDW�SHQXOLV�\DQJ�

VHODOX�PHQJKLEXU��PHPEHUL�GXNXQJDQ��GDQ�VHPDQJDW�NHSDGD�SHQXOLV�VHUWD�PHQMDGL�

NHOXDUJD�\DQJ�VHODOX�DGD�XQWXN�SHQXOLV�GDODP�PHQMDODQL�SHUNXOLDKDQ���WDKXQ�LQL�

�� $QJJRWD� :LVXGDZDQ�:LVXGDZDWL� �1DWDV\D� GDQ� )DUKDQ�� \DQJ� VHODOX� EHUMXDQJ�

%HUVDPD�SHQXOLV�XQWXN�GDSDW�PHQ\HOHVDLNDQ�7XJDV�$NKLU�LQL

�� .HOXDUJD�EHVDU�,1&��7,���������\DQJ�VXGDK�EHUVDPD�VHODPD�HPSDW�WDKXQ�LQL�GDQ�

PHPEHULNDQ�EDQ\DN�SHQJDODPDQ�GDQ�VHPDQJDW VHUWD�GDSDW�PHQMDGL�NHOXDUJD�\DQJ�

GLDQGDONDQ�SHQXOLV�VHODPD���WDKXQ�LQL��

�� ,VWUL� LGDPDQ� �)LUGD�� 1DWDVKD�� /LVW\R�� 7LND�� 6DVNLD�� 5HUHQ�� 3XWULID�� 6RIL�� 3UHWW\��

'LQL��\DQJ�WHODK�EHUEDJL�VXND�GDQ�GXND��VHUWD�PHQMDGL�WHPDQ��VDKDEDW��GDQ�NHOXDUJD�

EDJL�SHQXOLV�VHODPD���WDKXQ�LQL�

��� 3LKDN�SLKDN�\DQJ�WLGDN�GDSDW�SHQXOLV�VHEXWNDQ�VDWX�SHU�VDWX�


